CPSG101 Carbon Footprint Infographic

John Hodgins

Present Day Carbon Footprint: 9.73 t CO2/yr, or 139 trees
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Future Household (30 something years old) - 2 Members, per capita Carbon
Footprint: 13.78 t CO2/yr, 197 trees
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Why the differences?

In the present day, my household consumption is much lower than in my future
household because living in high density housing is much more space and energy
efficient than single-family detached housing. The majority of household energy is
used for heating or cooling, and high density housing uses less energy to support

more people.



